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Lecture Summary :-
®* Alphabetical Series

®* Pair based Question

®* Inequality ( Normal & Reverse )

* Coding — Decoding

®* Syllogism

®* Blood relation based puzzle

®*  Circular Based Sitting ( Inside Outside )

®* Arrangement based puzzle

®* Uncertain based Sitting Arrangement (Linear & Circular )
®* Floor Based Puzzle

®* Square Based Sitting Arrangement

* Compare Based Puzzle



234 657 283 647 994

Q . If all the digits 1in each of the given numbers are arranged 1n ascending
order within the number, which will be highest number thus formed?
i< ST 718 Tcdeh U1 § AT 37eh! ohl TEAT o it AR b H AR b

JTAT 8, a1 39 YohR - dTci] 9od TSt &I hid | B2

A. 234
B. 657
C. 283
D. 647
E. 994



234 657 283 647 994

If the first and last digit of each number 1s interchanged with each other,

which will be the smallest number thus formed?

e Tcdeh GTAT o Tad I iTaH 3eh shl A9 H Feo [T STY, 1 39 TR o+
STt FoTd BT TEAT Shi- & EfT?

A. 234 "y
B. 994
C. 657
D. 647
E. 283



234 657 283 647 994

When all the digits in each number 1s multiplied with each other, the product

of which of these numbers shall be the greatest?

SISl Seleh ST < Gt el shl Ueh UL | TUIT fohT STIAT 2, 1 $7H  foher T
UM%l HeTdl STST BT

A. 234
B. 657
C. 283
D. 647
E. 994



234 657 283 647 994

If the digit at one’s place of the largest number 1s added to the digit at
hundreds place of the smallest number. What will be the sum of the two
numbers?

Ife forelt o TAT T a8 IS] G&AT o Iieh ol 99 DIt G&IT o 9l o 3k H TS

eI SITQ) ST ST ST AT AT Y

A. 12
B. 6

C.

D. 23
E. NOT



.Eé How many such pairs of letters are there in the word ‘ENTHUSIASM’, each of

which has as many letters between them in the word (both forward and backward
direction) as they have between the English alphabetical series?

3/o¢ 'ENTHUSIASM' | 3787 o UH fohdd ST 8, IS8 § Icdeh o i< 3Ise
3 (31T i s A feett ) s e over 3 fre e sfireh aoteren saer
o o9 87

1.Two 2. Three 3.Four 4.one 5.More than 4



What will be the difference between the sum of all the even digits and

the sum of all the odd digits of the given number ‘81247563 ?
<t TS TEAT 181247563 oh AT TAH Siehi oh AT ST AT ToISH 37ehi ok AT

=1 ST 3T T BIT?

£

2.8
3.4
4.5
5.9




Statements:C<LZK<HSF<S>X

Conclusions: I. K < S

II. F> X

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements:Z>G<J2V=X<C2A

Conclusions: 1. C > A
II.C=A

(1) If only conclusion 1 is true.
(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.

(4) If neither conclusion I nor Il is true.

(5) If both conclusion I and II are true.



Statements : K2 L2H<D=C<S<R>J

Conclusions :I. D < R @
II. K>H

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Conclusions (I) 22 > 19 (1) 22 <11
Statements —

(1)20>11>6>4<22<19
2)20>11>6=22>2=19
(3)20>11>6>22<19>

(4)20<11>6>22>19>2
(5)20>11<6>22<19>2




Conclusions - (I) 13 > 9

Statements -

(1)26>1>13>14>18>9
(2)26>1<13>14>18=9
(3)26>1>13>14>18>9
(4)26>1>13>14<18>9
(5)26>1>13>14<18>9

(1) 26 >13



Conclusions - (I) 5> 4

Statements -

(1) 11<3>5<25>4
2)11<3>5>25>4
3)11<3>5>25<4
(4)11<3<5>25>4
(5)11<3>5<25>4

(I1) 3 >4



In a certain code language “CONSTRUCTION” 1s written as
“EMPQVPWAVGQL”. What will be the code for “DESTRUCTION” 1n the

same language?

Teh Hi8rd 3 99T H “CONSTRUCTION” =t “EMPQVPWAVGQL” for@n
ST 21 38T 9TNT H “DESTRUCTION” o foTT e it i

1. FCURTSERKNP )
2. EFTVSVDVJPO

3.  FCURTSFSLOQ

4. None of the above

5.

Cannot be determined



In a certain code language, SQUARE is coded as WSUCPY then how will
CIRCLE be coded is the same code language?

ueh ffya i v, SQUARE st WSUCPY & &4 # shifed foraT T 8,
it CIRCLE =t &% shifed foram ST @8/ shig 91T 22

(1) TKEJCA
(2) TEKJCA
(3) TKECJA
(4) TKECAJ
(5) None of the above



Statements —

Only a few animal are cat.

Some animal are dog.
Conclusions-
I. All Cat are animal.

II. Some cat are Dog.
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Statements —
Only a few animal are cat.
Some animal are dog.
Conclusions-

I. All Cat are animal.

II. Some cat are Dog.



hgd —

“\ o
Only a few Sea are River A 3O |1 [% |
All River are Water bodies g [or et e % |

Conclusion : LR

I. Some Sea are Water bodies. @'@Fﬁ JTeL dTel %l
II. All sea are River ot ot fae @ |

Statements —




Statements —

Only a few Sea are River

All River are Water bodies
Conclusion :

I. Some Sea are Water bodies.

II. All sea are River



Statements —

No Door 1s Table .

Only a few Wood are Table.
Conclusions-

I. All Door are Wood.

II. Some Door are not Wood.
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Statements —

No Door 1s Table .

Only a few Wood are Table.
Conclusions-

I. All Door are Wood.

II. Some Door are not Wood.



hd:;

Statements: -+
All Desk are Jungle. auft S5 SiTet &) 3
All Jungle are Mountain. gt ST A1 &,
Conclusions: EL=

[.  No Jungle is Mountain. hIE ST "3 81 =.

[I. Some Mountain are Desk. FS 1 3T 25 &,



Statements:

All Desk are Jungle.

All Jungle are Mountain.
Conclusions:

I. No Jungle is Mountain.

I[I. Some Mountain are Desk.



There are 8 members P, Q, V, R, T, B, Z,
and S in a family. P is the Husband of V,
who 1s the mother of S. Q 1s a male, who
has only one child. Q and S are siblings
of the same gender. B 1s the brother of
V. R 1s the sister of Z, who 1s the mother
of T. T 1s the daughter of Q.
How 1s T related to S?
1.Niece

2.Brother

3.Sister

4.Aunt

5. Nephew

P,Q,V,R, T,B,Z3RSZIP,VaH
ufd &, ST S shT HIGT 21 Q U [ €,
Sl Shaet Tk G 81 Q 3T S T M
ffT & Y- 81 B, VAT WS BI R, Z
FI e 7, S T T AT 81 T, Q 31 T

2l
T, S 9 fore Terr Heifera 27

1. odisit
2. 9Ts

3. W&
4, ==l
5. 9dlST



. There are 8 members P, Q, V,R, T, B, Z,
" and S in a family. P is the Husband of V,

who 1s the mother of S. Q 1s a male, who

has only one child. Q and S are siblings
of the same gender. B 1s the brother of
V. R is the sister of Z, who is the mother
of T. T 1s the daughter of Q.

How 1s T related to S?

1.Niece

2.Brother

3.Sister

4.Aunt

5. Nephew



Eight people P, Q, R, S, T, U, Vand W
buy different items but not necessarily
in the same order. Two people buy
items between P and S. One person
buys between T and Q. T buys an item
before Q. At least two people buy after
Q. Three people buy items between V
and Q. V neither buy at first nor at last.
The number of persons buy items
before T 1s same as the number of
persons buy the item after W. Two
people buy item between W and P. R
buys before U.

IABHATP, Q,R, S, T, U, VIATW
HAT-STHT TEU G & TR T3
T S FA T BN ST AN P 3 S Haf=r |
I EEd 81 T 3R Q o o™ Ush Afth
Eladr 21 T, Q ¥ U8 Ueh o @iadT &
Q  SIT€ A | HH 31 TN 6] Tlied @l V
3T Q o sfr - I =req Tted &1 V A dl
Uge THIEdT § SR T & AT 1| T ¥ Ued
] @i aTet ARl shl ST W oh oI1a
] TG ATe SATRAT shl HEAT & HHH @
W 3R P o S a1 =fh 9 @diad &l R,
U ¥ 9gct 9&] T&dT 2




. Eight people P, Q, R, S, T, U, V and W
~ buy different items but not necessarily

in the same order. Two people buy

items between P and S. One person
buys between T and Q. T buys an item
before Q. At least two people buy after
Q. Three people buy items between V
and Q. V neither buy at first nor at last.
The number of persons buy items
before T 1s same as the number of
persons buy the item after W. Two
people buy item between W and P. R
buys before U.



Eight people P, Q, R, S, T, U, Vand W
are sitting around a square table in such
a way that four of them sit at four
corners of the square while four sit in
the middle of each of the four sides.
People who are sitting at the corner are
facing outside the center while people
sitting in the middle are facing the
center. R sits second to the right of V.
Only one person sits between R and W.
P is not an immediate neighbor of W
and does not sit at corner. Q faces S

who sits immediately to the left of U

ABHARHP,Q,R, S, T, U, VAR W

Ueh TSR HST oh IRT 3T 59 Yok &I
& oh 370 O AR o7 o AW Al WS
& Selfoh = , < HSTAT H | Tedeh o
W H oS & . I T SIS AN h1 T
h% oh STEL ohl 3T & SIelieh o e § oI
NI o1 7 ohg 1 3TX 7. R, V & qQ
Y TEL T W31 8| R 3T W o st
el Ueh A ch o131 81 P, W T
(ehedd TSIET T8l & ST i I Tl
3T R Q T HE S hl AL S U
EERCIDRC IR




Eight people P, Q, R, S, T, U, Vand W
are sitting around a square table in such
a way that four of them sit at four
corners of the square while four sit in
the middle of each of the four sides.
People who are sitting at the corner are
facing outside the center while people
sitting in the middle are facing the
center. R sits second to the right of V.
Only one person sits between R and W.
P is not an immediate neighbor of W
and does not sit at corner. Q faces S

who sits immediately to the left of U



Seven persons, A, B, C, D, E, Fand G
go to movies on different days of the
week starting from Monday to Sunday
but not necessarily in the same order.
One person goes between G and C, A
goes before C. G goes on Friday. D
goes on the second day of the week.
Three persons go-between D and F. B
does not go on Monday or Thursday.
The number of persons who goes after

C 1s equal to the number of persons go
before G.

ardsath, A, B, C, D, E, F 3R G
AR ¥ e deh THTE o AAT-3AAT
T T el T STTd & ifoh STl Tal Toh
34T shH 1 Bl G 3R C o o= Uah Ak

ST 8, A, C € 981 ST 81 G Y[sha R ol
ST 21 D |HTE o @ fot SiraT 21 o

h-D 3 F o o= STTd 21 B SiHaR 1

"\ 0\* “\ “\ “\
REREIENISICIESEXICESIE IS
N\ N o “\ “\ “\
SIRAT h §&IT G 9 U ST I

T N
SRIT 1 G&IT & FUeT 2l




Seven persons, A, B, C, D, E, Fand G
go to movies on different days of the
week starting from Monday to Sunday
but not necessarily in the same order.
One person goes between G and C, A
goes before C. G goes on Friday. D
goes on the second day of the week.
Three persons go-between D and F. B
does not go on Monday or Thursday.
The number of persons who goes after

C 1s equal to the number of persons go
before G.



A certain number of persons are sitting in the row. All of them are facing towards
north. I sits seventh from the left of V. C sits to the left of A. Only three persons
sit between G and A. L sits fourth to the right of K. I sits one of the place between
E and K. A sits fourth to the left of I. K is seventh from the right end of the row.
Nine persons sit between G and K. There are nine places between C and E. A is

eight from the left end. G and I is not neighbor.

uh fAfara dan @ saftw dfts 7 93§ et SRt AR HE fhu gU &I L v amd |
|TAS TAT W ASTE| C,A o T3 3R 2| /ool A1 safwh G AR AR AT H IS T L, K
o TS AW AT I3t 21 I, E 31 K < <1 § hel Ueh TATT W1 Ueh 93T 21 A,I & 918
TR =Y T UTF o M0 BR T K ATqdT 21 A1 =ik G AR K & S § 93 3| J1 A<k
C IR EF AT H I3 2 | UTRF & AU BR A A HT3AT 21 GIHTR [ TSIHT T8 2



A certain number of persons are sitting in the row. All of them are facing towards

" north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit
between G and A. L sits fourth to the right of K. I sits one of the place between E
and K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine
persons sit between G and K. There are nine places between C and E. A is eight

from the left end. G and I is not neighbor.



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole
O is longer than pole M. Pole K is longer than pole O. Pole K is
shorter than only pole N. Pole J is longer than pole O. Pole M is not
the shortest pole. The length of 2nd longest pole is 62cm and 3rd

shortest pole is 35cm.

HETT-STET TS o BE YA AT J, K, L, M, N and O €1 g5 O ga M
T o1 § 3Aferes oiaT 81 g9 K 49 O <hl T § &l gl ?JETK%ITOIT'T
aer@rfsﬁ-a%l asrweroa?rmfraﬁa-emm%l aaMwﬁ@ﬁzr
aaqﬁ%lwmﬁaéqﬁﬁaﬁﬂaﬁ&ﬁﬁaﬁwﬁuﬁwﬁ@ﬁﬁw
a’ﬁaaré%ﬁﬁﬁl




There are six poles i.e. J, K, L, M, N and O of different lengths. Pole
O is longer than pole M. Pole K is longer than pole O. Pole K is
shorter than only pole N. Pole J is longer than pole O. Pole M is not
the shortest pole. The length of 2nd longest pole is 62cm and 3rd

shortest pole is 35cm.



7 People A, B, C, D, E, F and G are sitting around a circular table. In
which 3 people are facing outside and 4 of them facing inside the

circle. Only three people sits between A and G who is facing outside.

D sits immediate left
direction. F is not an

same direction. G sit

of G and B. The neighbour of E facing same
immediate neighbour of E but both are facing
s third to the left of E. D is not facing outside.

7AW A, B, C, D, E, F 31T G Uk MATHR ¢ oh IRT TR 96 3l [-ow
3 GIT STE ohT ATHAT oY T8 & ST 390 o 4 B o 37eT T ATHET T & B

A 3R G o =T S

A1 T 434 2 ST STed SRl ATHAT R T 21 D, G

31X B o dcehTel AT0 93T 81 E & USIET @1 {391 o/t ara-1 S @I 2 F,
E AT AcehTel USIET Tl & cifeh ST Ueh &f [T h1 ATHAT I ® 81 G, E
% ST & e TATT TR 21 D 18X T |THAT 81 T &1 B




7 People A, B, C, D, E, F and G are
sitting around a circular table. In
which 3 people are facing outside
and 4 of them facing inside the
circle. Only three people sits between
A and G who is facing outside. D sits
immediate left of G and B. The
neighbour of E facing same
direction. F is not an immediate
neighbour of E but both are facing
same direction. G sits third to the

left of E. D is not facing outside.



Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine

floor building but not necessarily in the same order. The ground floor is numbered 1, the

first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on
an odd-numbered floor below floor number 5. There are two persons living between D
and X. S lives on one of the odd numbered floors but not on floor number 7. There are
two people sitting between V and B. U lives on floor number 6. Q lives on the top-most
floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .
TR A, Q, B, S, C, U, V, D and X. | ¥ Ueh 3T HIWTeT U Ueh A1 HISTeA <hl AR H &d 2
IR ST T2 foh Ueh &1 ShW W | et shl HGAT 1 8, Tge 1 HiNTST <hl €&AT 2 § 3R 3
TE I qoh AW HUL HISTeT hl T&AT AT T8 2l D, 91 W&AT 5 W el Teh foaud 6863t aret
T UR 1&g 81 D 3R X o ot &1 4tk &d 81 S forww wean areft wivret # o v m e 2,
eifera wirer wEaT 7 v 7 v iR B % Sfier ® Y st ed §1 U Wit a7 6 WEgar 21 Q
aH FUH WA OR AT Bl V Uk OH E&AT STeit Hister W @aT 2l B, VA fR war el C, D
&% T I ek ST L&l B



Nine persons A, Q, B, S, C, U, V, D and X. They live on a
separate floor each of a nine floor building but not
necessarily in the same order. The ground floor is numbered

1, the first floor is numbered 2 and so on until the topmost

floor is numbered nine. D lives on an odd-
numbered floor below floor number
S. There are two persons living
between D and X. S lives on one of the
odd numbered floors but not on floor
number 7. There are two people
sitting between V and B. U lives on
floor number 6. Q lives on the top-
most floor. V lives on an even
numbered floor. B lives below V. C

lives just above D’s tloor



There are more than ten people sitting Q'Eﬁa:{ﬁ‘ 10 & 37fereh 4iwh S & |
in a circle. Each of the seats occupied ek T I Ueh A<k JoT 8 [34H &

by one person. Each of them is facing ng@aﬁaﬁ AR KLE

inside the circle. AT T WX S3T | B,E @raﬁ{@rﬁr
K is sitting third to L. B is sitting WASTZ | E and M & HeH & A T<h A
second to E. There are two people S | LJ and A T AT ﬁwq:cﬁﬁ

sitting in between E and M. L is an ¥, TIlch B @raﬁ{wmqﬁéa% | D
immediate neighbour of both J and A, and C,B U ShUTT: E‘:\'HB{E[WWﬁ‘
but not sitting second to B. D and C are a%‘%j N,M ﬁgﬁwmaﬁr%
sitting second and third to B ,ﬁﬁﬂ CHOTMEAT WAL 2 | M, A
respectively. N is sitting second to M, a;aéaﬁ-{ﬁ%ﬁ{wmméa% | E,J

but not seated to C. M is sitting third to T HFrE¥TAT W ISTE |
the right of A. E is sitting third to J.



There are more than ten people sitting
in a circle. Each of the seats occupied
by one person. Each of them is facing
inside the circle.

K is sitting third to L. B is sitting
second to E. There are two people
sitting in between E and M. 1 is an
immediate neighbour of both J and A,
but not sitting second to B. D and C are
sitting second and third to B
respectively. N is sitting second to M,
but not seated to C. M is sitting third to
the right of A. E is sitting third to J.



Q.1-2. Study the given information carefully and answer the
following questions. Point Q is 16m north of point W. Point A is
10m west of point K. Point S is Sm west of point W. Point K is 9 m
north of Point P. Point S is 25m south of point A..

& T THHRT T LTS h T i AR HHTTRId TT o I
| fiig Q, g W s s # 16 Hirex dhr g w2 feig A, Mg K+ 10
dret ufzm 7 fRaa 81 g S, g w a s derufgm a2 fog K, g p
% 9 Her s H frara 71 fg S, fofg A & 25 Hex afermr @ 21



Q.1-2. Study the given

information carefully
and answer the following
questions. Point Q is 16m
north of point W. Point
A 1s 10m west of point K.
Point S is Sm west of
point W. Point K is 9 m
north of Point P. Point S
is 25m south of point A..



Q.1. What is the direction of Point K with respect to Point S?
faig S o Haier | feig K bt fevm s 22
(1)East (2) South (3) North-east (4) South-east (5) North-west

Q.2. If point T is west of point P and north of point S, then what

is the distance between T and A?

afe feig T faig P o ufer it fig S I AR, @ T AR A F oftar
T g0 FT B2
(1)16m. (2) 25m. (3) 10m. (4) 9m. (5) Sm.



Eight persons - A, B, C, D, E, F, Gand H
were born 1n different months of January to
August of the same year but not necessarily
in the same order. Not more than one person
1s born 1n a month. G was born in a month
that has 31 days but not in the month of
May. There 1s a gap of one month between G
and A. A born somewhere after G. B was
born in the month which has the least
number of days. E was born immediately
after C. Number of persons born before E 1s
one more than the number of person born
after E. F born before D. There 1s a gap of

two months between A and H.

AR AR -A,B,C,D,E, F,GIANHTH &
Y o S § TTE o T ¥=T H&HT | Uar
BT o Ao SRt et foh it ohe 1 BT Th
e H Uk 9 31fren safth o1 s+ T i 2
G T SI+H 38 HeH ¥ g1 o fewt 31 fam g
& Afer o8 & R 1 7 G 3t A F ol

T TR o S 3| A, G % 18 gl Ua1 §aTl
2| B 36 HeH § a1 5T &, o ot ot

T 94 A 81 E, C % 31k 18 4aT gl
oMl E ¥ Y& UaT gC AHAT shl HEAT E o o1
3T §U A TRAT hl ST § Teh AT gl F 1
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Eight persons - A, B, C, D, E, F, G and H were born in different
@\ months of January to August of the same year but not necessarily in

the same order. NOt more than one person 1s
born in a month. G was born in a month
that has 31 days but not in the month of
May. There 1s a gap of one month
between G and A. A born somewhere
after G. B was born in the month which
has the least number of days. E was born
immediately after C. Number of persons
born before E 1s one more than the
number of person born after E. F born
before D. There is a gap of two months
between A and H.
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Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can
be given on the same day. J gives a presentation on 10
April. There are five presentations between the
presentations of Q and L. More than two-person give
presentations between the presentations of R and A.
There are two presentations between the presentations of
L and J. R and Q give the presentations in the same
month. B gives a presentation after K. The number of
employees who give presentations between the
presentation of A and B is the same as the number of
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

September.

1S FHHERT S, o, TA, WY, R, AN, T AN s A41eT o6
=T HAT-IA HEHT W Teh Tl ad &l S,
3T, 3T IR foder, S fF T wda v T g
3Tk FHHTRT AT T[T 7 o Tl Hei- 3 5
3T 10 ARG ot &1 ST Hehd | 81 Tk & feq a2
SRERIT A& a1 ST Eeheli] J 10 3T ol Teh TE(d
AT 81 Q IR L Y S o it e Jfaat &l R
HIT A ! TEfdl o sfi<l a1 | ek sgieh Tediadl
4d 81 L 3R J 6T Seqfaat o e &t SEqfedi 8 R
3T Q Te & HEH H Tqfar &d 81 B, K % 918 T
TSIST 2T 8l A 3T B o USieyM o site Ui o
Tt AT shi AT 31 & & 5o fof K 37t Q
1 ISIEIM o S ISIEI S Tl SHHTTIET shl G
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Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can
be given on the same day. J gives a presentation on 10
April. There are five presentations between the
presentations of Q and L. More than two-person give
presentations between the presentations of R and A.
There are two presentations between the presentations of
L and J. R and Q give the presentations in the same
month. B gives a presentation after K. The number of
employees who give presentations between the
presentation of A and B is the same as the number of
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

September.



If 1t 1s possible to make a meaningful word with the 2nd, the 3 and the 8 letters of the
word ‘ABSOLUTE’, then which of the following will be the 3 letter from the left of that

word? If more than one such word can be formed give ‘X’ as the answer and 1f no such

word can be formed give ‘Y’ as the answer.

aIfe 3158 'ABSOLUTE' o Y, <6l 371X ATl 37eT ¢ Ueh AT F1o€ ST €9l €, 1 39
I1o¢ o I O [ THRT 318 T=ITeiRad § § his 91 87 AfS UH Ueh H 371k Y16 o Hehd & dl
I X' & I IS UHT hig Y18 Tl ST ST FohdT & dl 3T "Y' 3|

1. X 2.Y 3.E 4. S 5.B



. Statements:

All Drink are Water. / @ U9 ST g

Only a few Water are Hot./ Wg@'@‘ﬁﬁﬂﬁ%l

No Hot is a Cold. / g 79 &€ &1 2

All Cold are Ice./ |1 3 % 2|

Conclusions:

(I) All Drink being Hot is a possibility. / @ U= T & Ueh GHTIT ¢ |

(IT) Some Water are not Hot. /EWQ'I'—ﬁ‘TI'ﬁ‘Hﬁ%I

(IIT) All Water being Hot is a possibility./ Gt UTHT T B Shl THTEAT 2

(1) Only I follows (2) Both I and II follow. (3) Only III follows
(4) Only II follows. (5) None of these



Statements:

Some G are R./ %8 G, R

Only a few R are P. /%lo_olﬁgﬂ‘ R, P Bl

All R are B./ AT R, B ¥

Conclusions:

I. Some G are definitely not R. / %8 G ff2ra a7 ¥ R 7€ 2
IL. Some B are definitely R. / %% B Afa €7 a4 R 7

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Statements:

All A are B./ @Y A, B 2
All B are C. /AW B C
Some C are D./WC%D

Conclusions:
I. Only few A are not D is a possibility. / %ae %5 A € D & & v domaaT 21
IL. Some C are A is a possibility ./ &S C ,A § GHIEAT §

(1) If only conclusion I follows.
(2) If only conclusion II follows.
(3) If either conclusion I or II follows.

(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Statements :

Some squares are circles. ?\:DWE!T?W%I

No circles is a triangle. aﬁéaﬁmﬁaﬁmqﬁ‘r%l

No line is a squares. aﬁéi‘@TGﬁﬂ%ﬁ‘%l

Conclusions :

I. No triangle is a squares. ﬁéﬁgﬁaﬁﬂ‘é‘r%l

I1. No line is a circles. . ﬁéwmqﬁ%l

II1. All squares can never be triangle. T T R THRTuT T80T 81 Tehd 2
IV. Some line are circles. Q@WW%I

(1) Only I follows

(2) Only II follows

(3) Only I and III follow

(4) Only III and either II or 1V follow
(5) None of these



. Sahil starts from Point A and walks 8 m in south and reaches point B, then turns towards his left
and walks 4 m and reaches Point C, from point C he turns his right and walks 5 m and reaches
Point D. From D he turns 8 m towards left and reaches to E. From E he again turns left and walk 5
m reaches to F again turn right and walk 4 m to reach point G. Finally he again turns to his left and
walks 8 m and reaches Point H. What is the distance between A and H and H is in which direction
with respect to A?

Afee foig A ¥ SIeil Y& shidT & S afeqor # 8 Hie =iefdT & 31 foig B W qg=rar &, it 7t of1g 21
H@m%ﬁuﬂﬁaaam%&ﬁtmcqwsdm% e C U o8 qusm%aﬁTSﬂﬁaW%aﬁtﬁaD
U T 2 D ¥ 9 qear & 8 Het ot 31K 3N E a9 Te=ar 2| E%Ta‘a'ﬁo‘{@fmwsm%?:ﬁtsﬁzt
HEHT%F deh qsdql%aﬁtﬁﬁ{ﬁmwsméaﬁt&qu{ qEa o fTT 4 Hiet et 21 37 | 98 T &
aﬁaﬂw@méaﬁtsnﬁw%sﬁrﬁaHWW%AaﬁIHé;aﬁ%ra%aﬁFﬁﬁr%aﬁIA
Faed o H fhg fesm o 27

6

1.12 m, West
2.16 m, West
3. 24 m, North East
4. 12 m, South East
5. 16 m, East




